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Mark Scheme for Child Language Acquisition ~ OCR Specification, H470, Paper 2, Question 1

Level | AOT Mark | AG2 Mark
5 |« Assured reference to a wide range of language 9-10 |« The response will make assured reference to stages of | 9-10
features, with appropriate and well-selected development explained and explored effectively, with

examples which supporf a focussed analysis. well-selected examples.

« The response will be ennanced by consistently «  The response vill make discerning/perceptive links to
accurate use of a wide range of appropriate theory.or concepts in a way that suggests assured
terminology; writing is in a secure academic register. understanding of the relationship between theory and

_practice.
4 |« The response will make consistently accurate and 7-8 | o The response will make consistently accurate 7-8
sustained reference to a range of language features, reference to stages of development with appropriate
‘with appropriate examples and developed analyses. ‘examples and an analysis which demonstrates

o The response will make consistently accurate use of awareness of the complexity of the processes
arange of appropriate terminology to enhance the involved.
response; written expression is coherent. « The response will consistently connect the elements of

the participants' language usage with a variety of
concepts/ theories in a way that suggests secure
understanding of the relationship between theory and
practice.
3|+ The response will make generally accurate and 5-6 |« The response vill make generally accurate reference | 5-6
developed reference to language features from the to stages of development, with appropriate examples
three levels specified in the question, with'appropriate and supporting comment or explanation.
examples. «  The response will connect the elements of the

« Accurate use of appropriate terminology Will enhance participants’ language usage with concepts and
the response: written expression is clear. theories in a way that is valid and relevant.

2 |« The response will identify some relevant language 3-4 |+ The response vill make some accurate reference/sto | 3—4
features, though only exploring two out of the three stages of development, with some explanation or
levels specified in the question, with appropriate appropriate examples.
examples and relevant comments. « The response will make valid connections between

« Appropriate terminology will be used accuratel elements of the participants' language usage and
although the range of terminology will be limite concepts or theory.
written expression has some errors but the meaning
remains apparent.

1 [« The response will accurately identify features of the | 1-2 | « The response will make litlie or basic reference to 1-2
material, but will make very few relevant or valid stages of language development.
points about these features. The response may «  Fewifany valid links between elements of participants’
cover only one of the language levels specified in the language and appropriate stage/s of development or
question. other relevant concepts.

«  Little or no accurate use of appropriate terminology:
writing may at times obscure meaning.

0 [+ No response or no response worthy of any credit. 0|+ No response or no response worthy of any credit. 0
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